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BCOC–138 : COST ACCOUNTING  

Time : 3 Hours  Maximum Marks : 100 

Note : (i) Attempt any five questions. 

 (ii) Each question carries equal marks. 

1. (a) Define Cost Accounting and explain its 

need.  10 

(b) Explain the pro forma of cost sheet with 

imaginary figures. 10 
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2. Explain the procedure of purchasing the raw 

material in a manufacturing concern, citing 

suitable examples. 20 

3. (a) What is meant by inventory turnover ? 

Discuss the importance of inventory 

turnover ratio in the control of 

inventory. 10 

(b) Describe the problems arises in pricing 

the issue of material. 10 

4. (a) What is time booking ? Discuss the 

purposes and methods of time booking 

with suitable examples. 10 

(b) How are overheads classified ? Explain 

with suitable examples. 10 

5. (a) What are the main causes of Under or 

Over absorption of overheads ? How are 

Under or Over absorption of overheads 

disposed off ? 3+7 
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(b) From the following details, calculate 

operating cost per passenger km and 

per km of a bus : 10 

A bus covers a distance of 15 km 

between two cities. On an average, it 

does not remain on road for five days in 

a month. It takes 5 round trips each 

day. Its capacity is 50 passengers and 

on an average 80% of the seats remains 

full.  

 ` 

Driver's salary per month 300 

Salary of conductors and 

cleaners per month 500 

Petrol, etc. per month 3,500 

Cost 80,000 

Insurance, Taxes, etc. p.a. 3,000 

Repairs and Renewals p.a. 4,000 

Estimated life  5 years 
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6. M/s. Agrawal Construction Company took a 

contract on 1-1-2023 for the construction of a 

Cinema Hall. The contract price was  

` 20,00,000. Following were the details on 

31st Dec., 2023 : 

 ` 

Materials purchased from the 

market 3,50,000 

Materials issued from stores 3,80,000 

Wages paid 6,00,000 

Plant issued to site 1,00,000 

Establishment expenses 90,000 

Materials transferred from other 

contracts 4,20,000 

Materials sold (Cost ` 50,000) 60,000 

Material stolen 40,000 

Sale of waste materials 250 

Materials returned to store 80,000 

Plant sold on 1st July, 2023 

(Cost ` 50,000) 30,000 
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Contract completed on 31-12-2023. Prepare 

Contract Account and charge 15% 

depreciation per annum on plant. 20 

7. A factory produces chemical ‘R’ and in the 

course of its manufacture a by-product ‘S’ is 

produced which is made saleable after a 

separate process. For the month of February 

2023, cost data are as under : 

 Joint 

Expenses  

Separate Expenses 

‘R’ ‘S’ 

 (`) (`) (`) 

Materials 1,92,000 73,600 7,800 

Wages 1,17,000 76,800 26,420 

Overheads 34,500 15,000 5,440 
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The output for the month was 1,420 tons of 

R and 490 tons of S. Sales value of ‘S’ 

averaged ` 240 per ton. Assuming 50% 

estimated profit on sales value of by-product 

‘S’, show the cost per ton of product R. 20 

8. The Trading and Profit & Loss Account of a 

company were as follows : 

        Trading and Profit & Loss Account 

  ` 

 `  

Purchases 25,210  

Less : Closing Stock 4,080 21,130 

Direct Wages  10,500 

Works Expenses  12,130 

Selling Expenses  7,100 

Administrative Expenses  5,340 

Depreciation  1,100 

Net Profit  20,300 

  77,600 
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 ` 

Sales–50000 units @ ` 1.50 each 75,000 

Discount Received 260 

Profit on sale of land 2,340 

 77,600 

The profit as per cost accounts was only  

` 19,770.  

Reconcile the financial and cost profits, 

using the following information : 20 

(a) Cost accounts values of closing stock 

was ` 4,280. 

(b) The works expenses in cost  

accounts were taken as 100% of the 

direct wages. 
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(c) Selling and administrative expenses 

were charged in cost accounts at 10% of 

sales and ` 0.10 per unit respectively.  

(d) Depreciation in the cost accounts was 

` 800. 
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 BCOC–138 

okf.kT; eas Lukrd (lkekU;)  

[ch- dkWe- (th-)] 

 (lh- ch- lh- ,l-) 

l=kar ijh{kk  

twu] 2025 

ch-lh-vks-lh-&138 % ykxr ys[kkadu 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) fdUg° ik¡p iz'uksa ds mÙkj nhft,A  

 (ii) izR;sd iz'u ds leku vad gSaA 

1- (v) ykxr ys[kkadu dks ifjHkkf"kr dhft, ,oa bldh 

vko';drk dk o.kZu dhft,A 10 
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(c) ykxr fooj.k ds izk:i dks dkYifud vk¡dM+ksa lfgr 

le>kb,A 10 

2- mi;qDr mnkgj.kksa dk gokyk nsrs gq, fdlh fofuekZ.k 

izfr"Bku esa dPps eky dks [kjhnus dh izfØ;k dks 

le>kb,A   20 

3- (v) bUosaVªh VuZvksoj ls D;k vfHkizk; gS \ bUosaVªh ds 

fu;a=.k esa bUosaVªh VuZvksoj vuqikr ds egRo ij ppkZ 

dhft,A  10 

(c) lkexzh ds ewY; fu/kkZj.k esa vkus okyh leL;kvksa dk 

o.kZu dhft,A 10 

4- (v) le; cqfdax D;k gS \ mi;qDr mnkgj.kksa ds lkFk 

le; cqfdax ds mís';ksa ,oa fof/k;ksa ij ppkZ 

dhft,A  10 

(c) mifjO;;ksa dks dSls oxhZÏr fd;k tkrk gS \ mi;qDr 

mnkgj.k lfgr le>kb,A 10 
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5- (v) mifjO;;ksa ds vYi ;k vfr vo'kks"k.k ds eq[; 

dkj.k D;k gSa \ budk fuiVkjk dSls fd;k tkrk gS \ 

3+7 

(c) fuEufyf[kr fooj.kksa ls ,d cl dh izfr iSlsatj 

fdeh- rFkk izfr fdyksehVj ykxr Kkr dhft, % 10 

,d cl nks uxjksa ds chp 15 fdyksehVj dh nwjh r; 

djrh gSA ;g vkSlru eghus esa 5 fnu lM+d ij ugha 

pyrh gSA ;g izfrfnu 5 tkus ds rFkk 5 okil vkus 

ds Qsjs djrh gSA bldh {kerk 50 ;k=h gS vkSj 

vkSlru 80% iw.kZ djrh gSA 

 ` 

Mªkboj dk osru izfr ekg 300 

daMDVlZ rFkk DyhulZ dk osru izfr ekg 500 

isVªksy] vkfn izfr ekg 3,500 

ykxr 80,000 

chek] VSDl] bR;kfn okf"kZd 3,000 

ejEer rFkk uohuhdj.k okf"kZd  4,000 

vuqekfur thou 5 o"kZ 
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6- eSllZ vxzoky fuekZ.kd us ,d flusek gkWy cukus dk Bsdk 

01&01&2023 dks fy;kA Bsdk ewY; ` 20,00,000 FkkA 

31 fnlEcj] 2023 dks fuEufyf[kr fooj.k Fks % 

 ` 

cktkj ls lkexzh dk Ø; dh 3,50,000 

LVkslZ ls lkexzh dk fuxZeu fd;k 3,80,000 

etnwjh Hkqxrku 6,00,000 

Bsds dks fuxZfer IykaV 1,00,000 

LFkkiu O;; 90,000 

vU; Bsdksa ls gLrkUrfjr lkexzh 4,20,000 

lkexzh dk foØ; (ykxr ` 50,000) 60,000 

lkexzh pksjh gks x;h 40,000 

O;FkZ lkexzh dk foØ; 250 

LVksj dks okil dh xbZ lkexzh 80,000 

1 tqykbZ] 2023 dks IykaV dk foØ; (ykxr 

` 50,000) 30,000 
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 31&12&2023 dks Bsdk iw.kZ gqvkA Bsdk [kkrk cukb, rFkk 

IykaV ij 15% izfr Îkl yxkb,A 20 

7- ,d dkj[kkuk ^vkj* jklk;fud inkFkZ dk mRiknu djrk gS] 

ftldh fuekZ.k izfØ;k esa ,d ^,l* xkS.k mRikn Hkh 

mRikfnr gks tkrk gS] ftls i`Fkd~ izfØ;k }kjk foØ;&;ksX; 

cuk;k tkrk gSA 2023 o"kZ ds Qjojh ekg ds ifjO;; 

lEcU/kh lead fuEufyf[kr gSa % 

 

la;qDr O;; 

i`Fkd~ O;; 

^vkj* ^,l* 

 (`) (`) (`) 

lkexzh 1,92,000 73,600 7,800 

Je 1,17,000 76,800 26,420 

mifjO;; 34,500 15,000 5,440 
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ekg esa 1,420 Vu ^vkj* rFkk 490 Vu ^,l* dk mRiknu 

fd;k x;k o ^,l* dk foØ; ewY; vkSlru ` 240 izfr 

Vu FkkA ^,l* mRiknu dk foØ; ewY; ij 50% vuqekfur 

ykHk ekurs gq, ^vkj* mRikn ds izfr Vu ykxr dks iznf'kZr 

dhft,A   20 

8- ,d dEiuh dk O;kikfjd rFkk ykHk&gkfu [kkrk fuEu 

izdkj Fkk % 

      O;kikfjd ,oa ykHk&gkfu [kkrk 

  ` 

 `  

Ø; 25,210  

?kVk;k % vafre jgfr;k 4,080 21,130 

izR;{k etnwjh  10,500 

dkj[kkuk O;;  12,130 

foØ; O;;  7,100 
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iz'kklfud O;;  5,340 

Îkl  1,100 

'kq¼ ykHk  20,300 

  77,600 

 

 ` 

foØ;µ50,000 bdkb;k¡ @ ` 1.50 izfr 75,000 

NwV izkIr dh 260 

Hkwfe ds foØ; ij ykHk 2,340 

 77,600 

ykxr ys[kksa ds vk/kkj ij dsoy ` 19,770 ykHk FkkA 

fuEufyf[kr vfrfjDr lwpukvksa dks /;ku esa j[krs gq, 

foÙkh; rFkk ykxr ykHkksa esa feyku dhft, % 20 

(v) ykxr ys[kksa esa vafre LVkWd dk ewY; ` 4,280  

FkkA 
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(c) ykxr ys[kksa esa dkj[kkuk O;; izR;{k etnwjh ds 

100% ds cjkcj fy;k x;kA 

(l) foØ; rFkk iz'kklfud O;; foØ; ds Øe'k% 10% 

rFkk ` 0-10 izfr bdkbZ dh nj ls fn[kk, x,A  

(n) ykxr ys[kksa esa Îkl ` 800 fn[kk;k x;kA 

× × × × × 

 

 

 


